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	LEARNING OBJECTIVES

1.
Apply and discuss the recognition and derecognition of a financial asset or financial liability.
2.
Apply and discuss the classification of a financial asset or financial liability and their measurement.
3.
Apply and discuss the treatment of gains and losses arising on financial assets and financial liabilities.

4.
Apply and discuss the treatment of impairment of financial assets.

5.
Record the accounting for derivative financial instruments, and simple embedded derivatives.

6.
Outline the principle of hedge accounting, and account for fair value hedges and cash flow hedges including hedge effectiveness.
7.
Outline the disclosure requirements of financial instruments.
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1.
Introduction

1.1
There are four reporting standards that deal with financial instruments:

(a)
HKAS 32 Financial instruments: presentation

Deals with the classification of financial instruments and their presentation in financial statements.

(b)
HKAS 39 Financial instruments: recognition and measurement

Deals with how financial instruments are measured and when they should be recognized in financial statements.

(c)
HKFRS 7 Financial instruments: disclosures

Deals with the disclosure of financial instruments in financial statements.

(d)
HKFRS 9 Financial instruments

Issued on November 2009 and revised on December 2010. It will eventually replace HKAS 39 and effective for accounting periods commencing from 1 January 2018.
1.2
History of IFRS 9:

	Time
	Process

	14 July 2009
	IASB issues exposure draft Financial Instruments: Classification and Measurement

	12 November 2009
	IASB issues IFRS 9 Financial Instruments, covering classification and measurement of financial assets, as the first part of its project to replace IAS 39.

	28 October 2010
	IASB reissues IFRS 9 Financial Instruments, incorporating new requirements on accounting for financial liabilities and carrying over from IAS 39 the requirements for derecognition of financial assets and financial liabilities.

	4 August 2011
	IASB publishes an exposure draft proposing to push back the mandatory effective date of IFRS 9 Financial Instruments from 1 January 2013 to 1 January 2015

	16 December 2011
	IASB publishes Mandatory Effective Date and Transition Disclosures (Amendments to IFRS 9 and IFRS 7), which amends the effective date of IFRS 9 to annual periods beginning on or after 1 January 2015, and modifies the relief from restating comparative periods and the associated disclosures in IFRS 7

	28 November 2012
	Exposure Draft ED/2012/4 Classification and Measurement: Limited Amendments to IFRS 9 (proposed amendments to IFRS 9 (2010)) published

	19 November 2013
	IASB issues IFRS 9 Financial Instruments (Hedge Accounting and amendments to IFRS 9, IFRS 7 and IAS 39)

	24 July 2014
	IASB issues IFRS 9 Financial Instruments

	12 September 2016
	IASB issues Applying IFRS 9 'Financial Instruments' with IFRS 4 'Insurance Contracts' (Amendments to IFRS 4) to address concerns about the different effective dates of IFRS 9 and the new insurance contracts standard


2.
Classification of Financial Instruments (HKAS 32)
2.1
Definitions

	2.1.1
	Definitions

	
	(a)
A financial instrument is any contract that gives rise to a financial asset of one entity and a financial liability or equity instrument of another entity.

(b)
A financial assets is any asset that is:

(i)
cash

(ii)
a contractual right to receive cash or another financial asset from another entity

(iii)
a contractual right to exchange financial assets/liabilities with another entity under conditions that are potentially favourable to the entity
(iv)
a contract that will or may be settled in the entity’s own equity instruments, and is a non-derivative for which the entity is or may be obliged to receive a variable number of the entity’s own equity instruments
(v)
a contract that will or may be settled in the entity’s own equity instruments, and is a derivative that will or may be settled other than by the exchange of a fixed amount of cash or another financial asset for a fixed number of the entity’s own equity instruments.

Examples:

· Trade receivables

· Options

· Investment in equity shares

(c)
A financial liability is any liability that is a contractual obligation:

(i)
to deliver cash or another financial asset to another entity, or

(ii)
to exchange financial instruments with another entity under conditions that are potentially unfavourable, or

(iii)
a contract that will or may be settled in the entity’s own equity instruments, and is a non-derivative for which the entity is or may be obliged to deliver a variable number of the entity’s own equity instruments

(v)
a contract that will or may be settled in the entity’s own equity instruments, and is a derivative that will or may be settled other than by the exchange of a fixed amount of cash or another financial asset for a fixed number of the entity’s own equity instruments.
Examples:

· Trade payables

· Debenture loans

· Redeemable preference shares

(d)
An equity instrument is any contract that evidences a residual interest in the assets of an entity after deducting all of its liabilities.


	2.1.2
	Example 1

	
	Identify which of the following are financial instruments:

(a)
inventories

(b)
investment in ordinary shares

(c)
prepayments for goods or services

(d)
liability for income taxes

(e)
a share option (an entity’s obligation to issue its own shares)

Solution:
(a)
Inventory (or any other physical asset such as non-current assets) is not a financial instrument since there is no present contractual right to receive cash or other financial instruments.

(b)
An investment in ordinary shares is a financial asset since it is an equity instrument of another entity.

(c)
Prepayments for goods or services are not financial instruments since the future economic benefits will be the receipt of goods or services rather than a financial asset.

(d)
A liability for income taxes is not a financial instrument since the obligation is statutory rather than contractual.
(e)
A share option is a financial instrument since a contractual obligation does exist to deliver an equity instrument. Note, however, that an option to buy or sell an asset other than a financial instrument (e.g. a commodity) would not qualify as a financial instrument.


2.1.3
The accounting treatment of interest, dividends, losses and gains relating to a financial instrument follows the treatment of the instrument itself. For example, dividends paid in respect of preference shares classified as a liability will be charged as a finance expense through profit or loss. Dividends paid on shares classified as equity will be reported in the statement of changes in equity.

2.2
Classification as liabilities and/or equity

2.2.1
Entities that issue financial instruments should classify them as either liabilities or equity. This classification should be made in accordance with the substance, not merely the legal form, of the instrument.

2.2.2
The substance of a financial instrument may differ from its legal form. Some financial instruments take the legal form of equity but are liabilities in substance. Others may combine features associated with equity and features associated with liabilities.

2.2.3
The critical feature in differentiating a financial liability from an entity instrument is the existence of a contractual obligation on one party to the financial instrument (the issuer) either to deliver cash or another financial asset to the other party (the holder) or to exchange another financial instrument with the holder under conditions that are potentially unfavorable to the issuer.

2.2.4
When such a contractual obligation exists, that instrument meets the definition of a financial liability regardless of the manner in which the contractual obligation will be settled. A restriction on the ability of the issuer to satisfy an obligation, such as lack of access to foreign currency or the need to obtain approval for payment from a regulatory authority, does not negate the issuer’s obligation or the holder’s right under the instrument.

2.2.5
When a financial instrument does not give rise to a contractual obligation on the part of the issuer to deliver cash or another financial asset or to exchange another financial instrument under the conditions that are potentially unfavourable, it is an equity instrument.
	2.2.6
	Example 2 – Liabilities or equity?

	
	(a)
Preference shares
If an entity issues preference shares that pay a fixed rate of dividend and that have a mandatory redemption feature at a future date, the substance is that there is a contractual obligation and, therefore, the preference shares should be recognized as a financial liability. In contrast, normal (ordinary) shares should be classified as equity as the entity does not have a contractual obligation to make any payment.
(b)
Puttable instruments (可贖回金融衍生工具) issued by mutual funds, unit trusts or co-operatives
Puttable instrument is a financial instrument that gives the holder the right to return it to the issuer for cash or another financial asset. Although the legal form of such financial instruments often includes a right to the residual interest in the assets of an entity, the inclusion of an option for the holder to put the instrument back to the entity for cash or another financial asset means that the instruments meet the definition of a financial liability, an obligation.
However, they can now be classified as equity, but only if the following conditions are met:

(i)
the holder is entitled to a pro-rata share of the entity’s net assets on liquidation.

(ii)
the instrument is in the class of instruments that is the most subordinate and all instruments in that class have identical features.

(iii)
the instrument has no other characteristics that would meet the definition of a financial liability.
(iv)
the total expected cash flows attributable to the instrument over its life are based substantially on the profit or loss, or the change in the recognized net assets or the change in the fair value of the recognized and unrecognized net assets of the entity.

(c)
Share warrants or rights
Share warrant or right should be classified as equity. There is a contract that is settled by the issuer delivering a fixed number of the issuer’s own shares in exchange for a fixed amount of cash or monetary assets.


3.
Recognition of Financial Assets and Financial Liabilities under HKFRS 9
3.1
Initial recognition of financial assets

	3.1.1
	Classification of financial assets

	
	(a)
An entity should recognize a financial asset or a financial liability on its statement of financial position when, and only when, it becomes a party to the contractual provisions of the instrument, rather than when the contract is settled.
(b)
At initial recognition, HKFRS 9 requires that financial assets are classified as measured at either:
(i)
amortised cost, or

(ii)
fair value through other comprehensive income (FVTOCI), or

(iii)
fair value through profit or loss (FVTPL).


3.1.2
This classification is made on the basis of both:

(a)
The entity’s business model for managing the financial assets, and

(b)
The contractual cash flow characteristics of the financial asset.

3.1.3
A financial asset is classified as measured at amortised cost where:

(a)
The objective of the business model within which the asset is held is to hold assets in order to collect contractual cash flows, and

(b)
The contractual terms of the financial asset give rise on specified dates to cash flows that are solely payments of principal and interest on the principal outstanding.

3.1.4
A financial asset is classified as measured at fair value through OCI where:

(a)
The financial asset is held within a business model whose objective is achieved by both collecting contractual cash flows and selling financial assets, and

(b)
The contractual terms of the financial asset give rise on specified dates to cash flows that are solely payments of principal and interest on the principal amount outstanding.

3.1.5
Where financial assets meet the amortised cost or FVTOCI criteria they must be classified as such unless an irrevocable election is made at initial recognition to designate them as measured at FVTPL in order to eliminate or significantly reduce an accounting mismatch.
3.1.6
Financial assets that do not meet these criteria are measured at FVTPL.
3.1.7
Examples of this principle are as follows:

(a)
Unconditional receivables are recognized when the entity becomes a party to the contract. At that point the entity has a legal right to receive cash.

(b)
Commitments to sell goods, etc. are not recognized until one party has fulfilled its part of the contract. For example, a sales order will not be recognized as revenue and a receivable until the goods have been delivered.

(c)
Forward contracts are recognized as assets on the commitment date, not on the date when the item under contract is transferred from seller to buyer.

3.1.8
The following decision tree will help with the classification of financial assets:
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3.2
Initial recognition of financial liabilities
	3.2.1
	Classification of financial liabilities

	
	(a)
At initial recognition, HKFRS 9 requires that financial liabilities are classified as either:

(i)
at fair value through profit or loss, or

(ii)
at amortised cost.
(b)
A financial liability is classified at fair value through profit or loss if:

(i)
it is held for trading, or

(ii)
upon initial recognition it is designated at fair value through profit or loss.

(c)
Derivatives are always measured at fair value through profit or loss.


4.
Measurement of Financial Assets under HKFRS 9

4.1
Initial measurement

	4.1.1
	Initial measurement of financial assets

	
	All financial instruments are initially measured at fair value plus or minus, in the case of a financial asset or financial liability not at fair value through profit or loss, transaction costs.


4.1.2
The correct journal entry to initially recongise a financial asset is therefore:

(a)
Financial assets NOT at FVTPL
Dr. Financial asset (FV + transaction costs)
Cr. Cash/bank/payable (FV + transaction costs)

(b)
Financial assets at FVTPL

Dr. Financial assets (FV)

Cr. Cash/bank/payable (FV)

Dr. Transaction costs (profit or loss)

Cr. Cash/bank/payable

4.2
Subsequent measurement

	4.2.1
	Two classifications of financial assets

	
	HKFRS 9 divides all financial assets into two classifications:

(a)
those measured at amortised cost; and

(b)
those measured at fair value.

Classification is made at the time the financial asset is initially recognized, namely when the entity becomes a party to the contractual provisions of the instrument.


(a)
Debt instruments

	4.2.2
	Debt instruments

	
	The HKFRS 9 classification is made on the basis of both:
(a)
Business model test –
(i)
Establishes whether the entity holds the financial asset to collect the contractual cash flows or whether the objective is to sell the financial asset prior to maturity to realize changes in fair value.

(ii)
If it is to collect the contractual cash flows, it implies that there will be no or few sales of such financial assets from a portfolio to their maturity date.

(iii)
If this is the case, the test is passed.

(iv)
If not, it would suggest that it may be disposed of to respond to changes in fair value. In this situation, the test is failed and the financial asset cannot be measured at amortised cost.

(v)
Where an entity changes its business model, it may be required to reclassify its financial assets as a consequence, but this is expected to be infrequent occurrence.

(vi)
If reclassification does occur, it is accounted for from the first day of the accounting period in which reclassification takes place.
(b)
Contractual cash flow characteristics test –
(i)
Determines whether the contractual terms of the financial asset give rise to cash flows on specified dates that are solely payments of principal and interest based upon the principal amount outstanding.

(ii)
If this is not the case, the test is failed and the financial asset cannot be measured at amortised cost.

(iii)
For example, convertible bonds contain rights in addition to the repayment of interest and principal and therefore would fail the test and must be accounted for as fair value through profit or loss.


	4.2.3
	Debt instruments – amorised cost

	
	A debt instrument is classified as measured at amortised cost where:

(a)
The objective of the business model within which the asset is held to hold assets in order to collect contractual cash flows and
(b)
The contractual terms of the financial asset give rise on specified dates to cash flows that are solely payments of principal and interest on the principal outstanding.


	4.2.4
	Debt instruments – FVTOCI

	
	A debt instrument must be classified and measured at FVTOCI (unless the asset is designaged at FVTPL under the fair value option) if it meets both the following criteria:

(a)
The financial asset is held within a business model whose objective is achieved by both collecting contractual cash flows and selling financial assets.

(b)
The contractual terms of the financial asset give rise on specified dates to cash flows that are solely payments of principal and interest on the principal outstanding.


4.2.5
Even if a financial instrument passes both tests, it is still possible to designate a debt instrument as FVTPL if doing so eliminates or significantly reduces a measurement or recognition inconsistency (i.e. accounting mismatch) that would otherwise arise from measuring assets or liabilities or from recognizing the gains or losses on them on different bases.

4.2.6
Therefore, it is now possible to have financial assets that meet the criteria above and which will not be measured at amortised cost, even if they are quoted in an active market.

	4.2.7
	Example 3 – Debt investment measured at amortised cost using the effective interest method

	
	On 1 January 2012, XYZ Ltd pays $104,330 to acquire a bond which has a nominal value of $100,000, a coupon rate of 6% interest payable on 31 December each year and matures on 31 December 2016. XYZ Ltd holds the investment within a business model whose objective is to hold the bond until maturity date in order to collect contractual cash flows. The company measures the investment in bond at amortised cost using the effective interest method. The effective interest rate is 5%.

In this case, the carrying amount of the investment and the interest income for each relevant year will be determined, using the effective interest method, as follows:

Year

Opening balance

Effect interest rate 5%

Interest received 6%

Closing balance

$

$

$

$

2012
104,330

5,216

(6,000)

103,546

2013
103,546

5,177

(6,000)

102,723

2014
102,723

5,136

(6,000)

101,859

2015
101,859

5,093

(6,000)

100,952

2016
100,952

5,048

(6,000)

100,000

25,670

(30,000)

To: Income statement

To: Statement of cash flows

To: Statement of financial position

The relevant journal entries are as follows:

1 January 2012
Dr. ($)

Cr. ($)

Investment in bond

104,330

Cash

104,330

31 December 2012
Cash

6,000

Investment in bond (6,000 – 5,216)

784

Interest income

5,216

31 December 2013
Cash

6,000

Investment in bond (6,000 – 5,177)

823

Interest income

5,177

31 December 2014
Cash

6,000

Investment in bond (6,000 – 5,136)

864

Interest income

5,136

31 December 2015
Cash

6,000

Investment in bond (6,000 – 5,093)

907

Interest income

5,093

31 December 2016
Cash

6,000

Investment in bond (6,000 – 5,048)

952

Interest income

5,048

Cash

100,000

Investment in bond

100,000




	4.2.8
	Example 4 – Debt investment measured at FVTOCI

	
	On 1 July 2014 BW acquired $40 million 5% loan stock at a cost of $38 million. Further information is as follows:

· Interest is payable annually in arrears.

· The loan stock will be redeemed at a 5% premium on 30 June 2017.

· The effective interest rate attached to the loan stock is 8.49%.

· The fair value of the loan stock is $38.8 million at 30 June 2015 and $40.8 million at 30 June 2016.

· The loan stock is held by BW within a business model whose objective is achieved both by collecting contractual cash flows and selling financial assets.
Required:
(a)
Calculate amounts to be recognized in the financial statements of BW for the years ended 30 June 2015 and 2016.

(b)
State the relevant journal entries in the years ended 30 June 2015 and 30 June 2016.

(c)
State the relevant journal entries to recognize the disposal of the loan stock on 1 July 2016 for $41 million.

Solution:

(a)
The loan stock is classified as FVTOCI and initially measured at fair value of $38 million.
At amortised cost the loan stock would be measured as:
Year

Opening balance

Effect interest rate 8.49%

Interest received 5%

Closing balance

$000
$000
$000
$000
2015
38,000
3,226
(2,000)

39,226
2016
39,226
3,330
(2,000)
40,556
2017
40,556
3,444
(2,000)

42,000
10,000
(6,000)

To: Income statement

To: Statement of cash flows

To: Statement of financial position

Appling the same interest and cash flows, but remeasuring the asset to fair value at each period end:

Year

Opening balance
Effect interest rate 8.49%
Interest received 5%

Carrying amount before FV change
FV change

Closing balance
$000

$000
$000
$000
$000
$000
2015
38,000
3,226
(2,000)
39,226
(426)
38,800
2016

38,800

3,330

(2,000)

40,130

670

40,800

(b)
The relevant journal entries are as follows:

1 July 2014
Dr. ($000)

Cr. ($000)

Financial asset at FVTOCI
38,000
Cash

38,000
(To recognize the loan stock at fair value)
30 June 2015
Financial asset at FVTOCI
3,226
Finance income
3,226
(To recognize finance income for the year)
Cash

2,000
Financial asset at FVTOCI
2,000
(To recognize the receipt of 5% interest)
Other comprehensive income
426
Financial asset at FVTOCI
426
(To remeasure the financial asset to fair value)
30 June 2016
Financial asset at FVTOCI
3,330
Finance income
3,330
(To recognize finance income for the year)
Cash

2,000
Financial asset at FVTOCI
2,000
(To recognize the receipt of 5% interest)
Financial asset at FVTOCI
670
Other comprehensive income
670
(To remasure the financial asset at fair value)

(c)

1 July 2016
Dr. ($000)

Cr. ($000)

Cash
41,000
Other comprehensive income (670,000 – 426,000)
244
Financial asset at FVTOCI
40,800

Gain on disposal (profit or loss)
444
(To recognize the loan stock, recognize the gain on disposal and reclassify cumulative amounts recognized in OCI to profit or loss)



(b)
Equity instruments

	4.2.9
	Equity instruments

	
	Equity instruments are measured at either:

(a)
fair value through profit or loss, or

(b)
fair value through other comprehensive income.


4.2.10
The normal expectation is that equity instruments will have the designation of fair value through profit or loss, with the price paid to acquire the financial asset initially regarded as fair value.

4.2.11
This could include unquoted equity instruments, which may present problems in arriving at a reliable fair value at each reporting date. However, HKFRS 9 does not include a general exception for unquoted equity investments to be measured at cost; rather it provides guidance on when cost may, or may not, be regarded as a reliable indicator of fair value.

	4.2.12
	Example 5 – Equity investment measured at fair value

	
	ABC Ltd acquires the following shares in the Hong Kong Stock Exchange on 15 November 2016, which it intends to sell in early 2017 to take advantage of the expected changes in the share prices.

(a)
100,000 ordinary shares of LMN Ltd at $2.00 per share plus transaction costs of $3,000; and

(b)
200,000 ordinary shares of XYZ Ltd at $3.00 per share plus transaction costs of $5,000.

At is accounting year-end on 31 December 2016, the shares are quoted at the Hong Kong Stock Exchange at the following prices:

(a)
Ordinary shares of LMN Ltd: $1.50 per share; and

(b)
Ordinary shares of XYZ Ltd: $4.00 per share.

In this case, the shares are financial assets at fair value through profit or loss as it is held for trading, and the relevant journal entries will be as follows:
15 November 2016
Dr. ($)

Cr. ($)

Investment in trading securities

800,000

Expense

8,000

Cash

808,000

31 December 2016
Investment in trading securities

150,000

Fair value gain – P&L
150,000

In the statement of financial position as at 31 December 2016, the investment in trading securities will be presented at its fair value of $950,000.

In the statement of comprehensive income for the year ended 31 December 2016, the fair value gain on trading securities of $150,000 and the expense of $8,000 will be recognized in profit or loss for the year.


	4.2.13
	Fair value through other comprehensive income

	
	(a)
It is possible to designate an entity instrument as fair value through other comprehensive income, provided specified conditions have been complied with as follows:

(i)
the equity instrument cannot be held for trading, and

(ii)
there must be an irrevocable choice for this designation upon initial recognition.

(b)
In this situation, initial recognition will also include directly attributable transactions costs. This may apply, for example, to strategic investments to be held on a continuing basis which are not held to take advantage of changes in fair value. Equity derivatives are excluded from adopting this designation.


4.2.14
Dividends on financial assets through other comprehensive income must be taken to profit or loss, unless they represent a recovery of part of the investment. Changes in fair value will be recognized in other comprehensive income.

4.2.15
If an equity instrument has been designated as fair value through other comprehensive income, the requirements in HKFRS 9 to undertake an assessment of impairment no longer apply as all fair value movements now remain in equity.

4.3
Reclassification

4.3.1
HKFRS 9 requires that when an entity changes its business model for managing financial assets, it should reclassify all affected financial assets. This reclassification applies only to debt instruments, as equity instruments must be classified as measured at fair value.

4.3.2
Where financial assets are reclassified, that reclassification is applied prospectively from the reclassification date. Previously recognized gains, losses or interest rate are not restated.

4.3.3
If an entity reclassifies a financial asset so that it is now measured at fair value, its fair value is determined at the reclassification date. Any gain or loss arising from a difference between the previous carrying amount and fair value is recognized in profit or loss.

4.3.4
If an entity reclassifies a financial asset so that it is now measured at amortised cost, its fair value at the reclassification date becomes its new carrying amount.
5.
Measurement of Financial Liabilities

5.1
Two classes of financial liabilities

	5.1.1
	Two classes of financial liabilities

	
	(a)
Financial liabilities at fair value through profit or loss (including most derivatives), and

(b)
Other financial liabilities. This is the default class for financial liabilities if they are not at fair value through profit or loss; these financial liabilities are measured at amortised cost. Borrowing would normally be classed under this heading.


5.1.2
Summary of two classes of financial liabilities

	Financial instrument
	Measurement at recognition
	Subsequent measurement
	Recognition in statement of comprehensive income

	Financial liabilities at fair value through profit or loss
	Fair value
	Measured at fair value with changes in value taken through profit or loss
	Fair value gains and losses recognized in profit or loss

	Other financial liabilities
	Amortised cost
	Measured at amortised cost using effective interest rate
	The interest calculated using the effective rate is charged to profit or loss within the income statement as a finance cost


5.2
Deep discounted bonds measured at amortised cost

5.2.1
The deep discounted bond has the following features.

(a)
This instrument is issued at a significant discount to its par value.

(b)
Typically it has a coupon rate much lower than market rates of interest, e.g. a 2% bond when market interest is 10% pa.

(c)
The initial carrying amount of the bond will be the net proceeds of issue.

(d)
The full finance cost will be charged over the life of the instrument so as to give a constant periodic rate of interest.

(e)
The full cost include:

(i)
issue costs

(ii)
deep discount on issue

(iii)
annual interest payments

(iv)
premium on redemption

	5.2.2
	Example 6 – Deep discount bond

	
	On 1 January 2016 ABC Co issued a deep discount bond with a $50,000 nominal value. The discount was 16% of nominal value, and the costs of issue were $2,000. Interest of 5% of nominal value is payable annually in arrears. The bond must be redeemed on 1 January 2021 (after 5 years) at a premium of $4,611. The effective rate of interest is 12% pa.

Required:

How will this be reported in the financial statements of ABC Co over the period to redemption?

Solution:
Firstly, we must establish at what amount the bond will be initially recognized in the statement of financial position. The calculation set out below, also works out the total finance cost to be charged to profits.

$

$

Net proceeds

Nominal value

50,000

Less: 16% discount

(8,000)

Less: Issue costs

(2,000)

· Point 5.2.1(c)
40,000

Initial recognition of liability

Repayments

Capital

50,000

Premium on redemption

4,611

Principal to redemption

54,611

Interest paid: $50,000 × 5% × 5 years

12,500

67,111

Total finance cost

27,111

Secondly, we set up a table (similar to that used for compound instruments) to work out the balance of the loan at the end of each period.

Year

Opening balance

Effect interest rate 12%

Payments 5%

Closing balance

$

$

$

$

2016
40,000

4,800

(2,500)

42,300

2017
42,300

5,076

(2,500)

44,876

2018
44,876

5,385

(2,500)

47,761

2019
47,761

5,731

(2,500)

50,992

2020
50,992

6,119

(2,500)

54,611

27,111

(12,500)

To: Income statement

To: Statement of cash flows

To: Statement of financial position

The finance charge taken to the income statement is greater than the actual interest paid, and so the balance shown as a liability increases over the life of the instrument until it equals the redemption value at the end of its term.

In years 1 to 4 the balance shown as a liability is less than the amount that will be payable on redemption. Therefore the full amount payable must be disclosed in the notes to account.


5.3
Compound instruments

5.3.1
A compound instrument is financial instrument that has characteristics of both equity and liabilities, for example debt that can be converted into shares.

5.3.2
HKAS 32 requires compound financial instruments be split into their component parts:

(a)
a financial liability (the debt)

(b)
an equity instrument (the option to convert into shares).

These must be shown separately in the financial statements.

	5.3.3
	Example 7 – Compound instruments

	
	On 1 January 2015, BBC Co issued a $50m three-year convertible bond at par.

· There were no issue costs.

· The coupon rate is 10%, payable annually in arrears on 31 December.

· The bond is redeemable at par on 1 January 2018.

· Bondholders may opt for conversion. The terms of conversion are two 25-cent equity shares for every $1 owed to each bondholder on 1 January 2018.

· Bonds issued by similar entities without any conversion rights currently bear interest at 15%.

· Assume that all bondholders opt for conversion in full.

Required:

How will this be accounted for by BBC Co?

Solution:

On initial recognition, the method if splitting the bond between equity and liabilities is as follows.

· Calculate the present value of the debt component by discounting the cash flows at the market rate of interest for an instrument similar in all respects, except that it does not have conversion rights.

· Deduct the present value of the debt from the proceeds of the issue. The difference is the equity component.

1.
Splitting the proceeds

The cash payments on the bond should be discounted to their present value using the interest rate for a bond without the conversion rights, i.e. 15%.

Date

Cash flow

DF @ 15%

PV

$000

$000

31 Dec 15
Interest

5,000

0.867

4,347.8

31 Dec 16
Interest

5,000

0.756

3,780.7

31 Dec 17
Interest

5,000

0.658

3,287.6

1 Jan 18
Principal

50,000

0.658

32,875.8

PV (the liability component) A

44,291.9

As the net proceeds of issue were B

50,000.0

So the equity component is (B – A)

5,708.1

2.
The annual finance costs and year end carrying amounts

Year

Opening balance

Effect interest rate 15%

Payments 10%

Closing balance

$

$

$

$

2015
44,291.9

6,643.8

(5,000)

45,935.7

2016
45,935.7

6,890.4

(5,000)

47,826.1

2017
47,826.1

7,173.9

(5,000)

50,000.0

3.
The conversion of the bond

The carrying amounts at 1 January 2015:

$000

Equity

5,708.1

Liability – bond

50,000.0

55,708.1

The conversion terms are two 25-cent equity shares for every $1, so $50m × 2 = $100m shares, which have a nominal value of $25m. The remaining $30,708,100 should be classified as the share premium, conversion has extinguished it.


	Question 1

Epsilon is a listed entity. You are the financial controller of the entity and its consolidated financial statements for the year ended 30 September 2010 are being prepared. Your assistant, who has prepared the first draft of the statements, is unsure about the correct treatment of a number of transactions and has asked for your advice. Details of the transaction is given below:
On 1 October 2009 Epsilon issued 5 million loan notes that had a value of $1 per note. The issue costs were 3 cents per note. Each note holder will receive interest of 5 cents per note on 30 September of each year starting on 30 September 2010. The loan notes are repayable on 30 September 2019 at $1·20 per note. As an alternative to repayment the loan note holders can elect to exchange their notes for shares in Epsilon. On 1 October 2009 the credit rating of Epsilon was such that it would have had to offer investors in non-convertible loan notes a rate of return of 9% per annum on any investment. The impact of issue costs would increase the effective interest rate on such loan notes to 9·45%.
The following information regarding discount rates may be relevant:
Discount rate

Present value of $1 receivable at the end of year 10

Cumulative present value of $1 receivable at the end of years 1 – 10

5%

61 cents

$7.72

9%

42 cents

$6.42

Required:

For the above transaction prepare extracts from the financial statements for the year ended 30 September 2010. Your extracts should be supported by appropriate explanations.
(6 marks)


(Adapted ACCA Diploma in IFR December 2010 Q3(a))


5.4
Fair value option for financial liabilities

5.4.1
HKFRS 9 permits entities to opt to designate liabilities which would normally fall to be measured at amortised cost, to be designated at fair value through profit or loss.

5.4.2
This designation, if made, must be made upon initial recognition and is irrevocable.

5.4.3
Where an entity opts for this treatment, any change in fair value of the liability must be separated into two elements as follows:

(a)
Changes in fair value due to own credit risk, which are taken to other comprehensive income, and

(b)
Other changes in fair value, which are taken to profit or loss.

5.4.4
One possible approach to identifying the two elements is to separate the interest rate charged on the financial liability into a benchmark rate (e.g. LIBOR) and an instrument-specific rate. Any change in the fair value of the liability which is not wholly due to the change in benchmark rate must therefore be due to a change on own credit risk. The movement in fair value can then be split into two separate elements.

	5.4.5
	Example 8 – Fair value option for liabilities

	
	On 1 January 2016 an entity issues a 7-year bond at par value of $300,000 and annual fixed coupon rate of 9%, which is also the market rate, when LIBOR is 6%. Therefore the instrument-specific element of IRR is 3% (9% – 6%).

At 31 December 2016, LIBOR has moved to 5.5%, thus making the benchmark interest rate (5.5% + 3%) 8.5% (i.e. LIBOR plus the instrument-specific element of IRR). If the fair value of the liability is consistent with a market interest rate of, say, 8.3%, then any change in the fair value of the liability from the benchmark rate to fair value must be due to something other than the change in the benchmark rate – i.e. it must be due to the change in the liability’s credit risk.

Required:

Calculate the amounts to be included within the financial statements for the year ended 31 December 2016.

Solution:

It can be quantified by calculating the present value (PV) of the liability using the benchmark rate and comparing it with the PV of the liability using the market rate as follows:

PV at benchmark rate 8.5%

Cash flow

DF @ 8.5%

PV

Year

$

$

1 – 6

27,000

4.5533

122,939

6

300,000

0.6129

183,870

306,809

PV at market rate 8.3%

Cash flow

DF @ 8.3%

PV

Year

$

$

1 – 6

27,000

4.5808

123,682

6

300,000

0.6197

185,910

309,592

Therefore, the change in the fair value of the liability which is not due to the change in the benchmark rate must be due to the change in the liability’s credit risk.

$

PV of liability at market rate of 8.3% (on SOFP at reporting date)

309,592

PV of liability at benchmark rate of 8.5%

306,809

Other comprehensive income

2,783

HKFRS 9 requires that this change in fair value relating to the change in the liability’s credit risk is taken to other comprehensive income. In the above situation, it will be reflected by a reduction in equity as the carrying value of the liability is increased.


6.
Trade Date and Settlement Date Accounting

6.1
HKFRS 9 refers to two methods of accounting, being trade date and settlement date accounting. An entity shall apply the same method consistently for all purchase and sales of financial assets that are classified in the same way in accordance with HKFRS 9.
6.2
The trade date is the date on which an entity commits to purchase or sell an asset, and trade date accounting results in:

(a)
the recognition of an asset to be received and liability to pay for it on the trade date, and

(b)
the derecognition of an asset to be sold and corresponding receivable on the trade date (together with any gain or loss)

6.3
The settlement date is the date on which an asset is delivered to or by an entity, and settlement date accounting results in:

(a)
the recognition of an asset on the settlement date and

(b)
the derecognition of an asset on the settlement date.

6.4
When trade date accounting is used interest does not start to accrue until the settlement date when title passes.
6.5
When settlement date accounting is used:

(a)
An asset subsequently measured at amortised cost is recognised initially at its fair value on the trade date.

(b)
Any change in the fair value of the asset to be received between the trade and settlement date is not recognised for assets measured at amortised cost.

(c)
Any change in the fair value of the asset to be received between the trade and settlement date is recognised in profit or loss or other comprehensive income for assets measured at fair value.
	6.6
	Example 9 – Trade date and settlement date

	
	Gaylord entered into a contractual commitment on 27 December 2016 to purchase a financial asset for $1,000. On 31 December 2016, the entity’s reporting date, the fair value was $1,005.
The transaction was settled on 5 January 2017 when the fair value was $1,007. The entity has classified the asset as at fair value through profit or loss in accordance with HKFRS 9.
Required:

How should the transactions be accounted for under trade date accounting and settlement date accounting?
Solution:
Trade date accounting
· On 27 December 2016, the entity should recognise the financial asset and the liability to the counterparty at $1,000.
· At 31 December 2016, the financial asset should be remeasured to $1,005 and a gain of $5 recognised in profit or loss.
· On 5 January 2017, the liability to the counterparty of $1,000 will be paid in cash. The fair value of the financial asset should be remeasured to $1,007 and a further gain of $2 recognised in profit or loss.
Settlement date accounting
· No transaction should be recognised on 27 December 2016.

· On 31 December 2016, a receivable of $5 should be recognised (equal to the fair value movement since the trade date) and the gain recognised in profit or loss.
· On 5 January 2017, the financial asset should be recognised at its fair value of $1,007. The receivable should be derecognised, the payment of cash to the counterparty recognised and the further gain of $2 recognised in profit or loss.


7.
Derecognition of Financial Instruments

7.1
Derecognition of financial assets

	7.1.1
	Derecognition criteria of financial assets

	
	(a)
A financial asset should be derecognized if one of the following criteria occur:

(i)
the contractual rights to the cash flows of the financial asset have expired, e.g. when an option held by the entity has expired worthless, or

(ii)
the financial asset has been sold and the transfer qualifies for derecognition because substantially all the risks and rewards of ownership have been transferred from the seller to the buyer.

(b)
The analysis of where the risks and rewards of ownership lie after the transaction is critical. For example if an entity sells an investment in shares and enters into a total return swap with the buyer, the buyer will return any increases in value to the entity or the entity will pay the buyer for any decrease in value. In this case the entity has retained substantially all of the risks and rewards of the investment, which therefore should not be derecognized.

(c)
The following are examples of the transfer of substantially all risks and rewards of ownership:
(i)
An unconditional sale of a financial asset.

(ii)
A sale of a financial asset together with an option to repurchase the financial asset at its fair value at the time of repurchase.
(d)
On derecognition, the difference between the carrying amount of the asset and the amount received for it should be recognized in the profit or loss for the period.


	7.1.2
	Example 10 – Derecognition of financial asset

	
	Tech Co has two receivables that it has factored to a bank in return for immediate cash proceeds of less than the face value of the invoices. Both receivables are due from long standing customers who are expected to pay in full and on time. Tech Co has agreed a three-month credit period with both customers.

The first receivable is for $200,000 and in return for assigning the receivable Tech Co has just received from the factor $180,000. Under the terms of the factoring arrangement, the only money that Tech Co will receive regardless of when or even if the customer settles the debt, i.e. the factoring arrangement is said to be “without recourse”.

The second receivable is for $100,000 and in return for assigning the receivable Tech Co has just received $70,000. Under the terms of this, factoring arrangement if the customer settles the account on time then a further $5,000 will be paid by the factoring bank to Tech Co, but if the customer does not settle the account in accordance with the agreed terms then the receivable will be reassigned back to Tech Co who will then be obliged to refund the factor the original $70,000 plus a further $10,000. This factoring arrangement is said to be “with recourse”.

Required:

Discuss Tech Co’s accounting treatment of the monies received under the terms of the two factoring arrangements.

Solution:

The principle of derecognition here is that it needs to determine whether the risk and rewards of ownership of the factoring arrangement has passed from Tech Co to the factoring bank. The principal risk with regard to receivables is the risk of bad debt.

In the first arrangement the $180,000 has been received as a one-off non refundable sum. This is factoring without recourse for bad debts. The risk of bad debt has clearly passed from Tech Co to the factoring bank. Accordingly Tech Co should derecognize the receivable and there will be an expense of $20,000 recognised. No liability will be recognized.

In the second arrangement the $70,000 is simply a payment on account. More may be received by Tech Co implying that Tech Co retains an element of reward. The monies received are refundable in the event of default and as such represent an obligation. This means that the risk of slow payment and bad debt remains with Tech Co who is liable to repay the monies so far received. As such despite the passage of legal title, the asset (i.e. receivable) should remain recognized in the accounts of Tech Co. In substance Tech Co has borrowed $70,000 and this loan should be recognized immediately. This will increase the gearing of Tech Co.


7.2
Derecognition of financial liabilities

	7.2.1
	Derecognition criteria of financial liabilities

	
	(a)
A financial liability is derecognized when it is extinguished, i.e. when the obligation specified in the contract is discharged or cancelled or expires.
(b)
Where an existing borrower and lender of debt instruments exchange one financial instrument for another with substantially different terms, this is accounted for as an extinguishment of the original financial liability and the recognition of a new financial liability.
(c)
Similarly, a substantial modification of the terms of an existing financial liability or a part of it should be accounted for as an extinguishment of the original financial liability and the recognition of a new financial liability.
(d)
For this purpose, a modification is “substantial” where the discounted present value of cash flows under the new terms, discounted using the original effective interest rate, is at least 10% different from the discounted present value of the cash flows of the original financial liability.
(e)
On derecognition, the difference between the carrying amount of the liability and the amount paid for it should be recognized in the profit or loss for the period.


	7.2.2
	Example 11 – Derecognition of financial liability

	
	A number of years ago Beijing Company issued loan stock with the following terms:

· Interest to be paid annually in arrears at a rate of 5.5%

· Loan to be repaid on 31 December 20X7

Taking into account the transaction costs, the effective interest rate was 6%. Beijing had paid all interest and capital due up to 31 December 20X1, and at that date the carrying amount of the loan was $10 million.

During 20X1, the worldwide economic recession caused Beijing to suffer financial difficulties, and an agreement to revise the terms of the loan stock from 20X2 onwards was reached with lenders. The revised terms included an extension to the term of the loan and an increase to the coupon rate.

The effective interest rate of the revised terms, excluding transaction costs was 8% per annum.

The present value of the cash flows, excluding transaction costs, under the revised terms was $10.5 million at 6% and $9.5 million at 8%.

Transaction costs of $700,000 were payable on 1 January 20X2 in respect of the negotiations for the revised terms.

How should the revision to the terms of the loan be treated in Beijing's financial statements?

Solution:

The revised terms negotiated by Beijing are such that the original loan should be derecognised and a new financial liability recognised.

Derecognition of the old loan and recognition of the new liability is required if the present value of the cash flows under the new terms is 10% or more different from the present value of the original loan. The cash flows under the new terms must be discounted at the 6% effective interest rate of the original loan and include the $700,000 transaction costs.

With transaction costs payable at the start of the period of the revised terms, they are added on in full to the $10.5 million present value, giving a total of $11.2 million. This is 12% different from the $10.0 million present value of the old loan, so the original loan should be derecognised and the new financial liability recognised.


8.
Impairment of Financial Assets
8.1
Expected credit loss model
8.1.1
During the financial crisis, the delayed recognition of credit losses that are associated with loans and other financial instruments was identified as a weakness in IAS 39. This is primarily due to the fact that the impairment requirements under IAS 39 are based on an ‘incurred loss model”, i.e. credit losses are not recognized until a credit loss event occurs.
8.1.2
The new impairment requirements in IFRS 9 are based on an expected credit loss model. It applies to:
(a)
Debt instruments measured at amortised cost or FVTOCI

(b)
Lease receivables (HKAS 17)

(c)
Contract assets (HKFRS 15)

(d)
Loan commitments within the scope of HKFRS 9 and not measured at FVTPL

(e)
Financial guarantee commitments not measured at FVTPL
8.1.3
The guiding principle of the expected credit loss model is to reflect the general pattern of deterioration or improvement in the credit quality of financial instruments. The amount of expected credit loss recongised as a loss allowance or provision depends on the extent of credit deterioration since initial recognition.
8.1.4
In order words, credit losses are recognized when expected rather than when incurred.

8.1.5
There are three approaches to impairment given in the standard:

(a)
A general approach

(b)
A simplified approach (relevant to trade receivables)

(c)
A purchased (or originated) credit impaired approach, which is applicable where a financial asset is credit impaired when initially recognised

8.2
General approach
8.2.1
Under the general approach, there are two measurement bases:

(a)
12-month expected credit losses (Stage 1) – which applies to all items (from initial recognition) as long as there is no significant deterioration in credit quality.

(b)
Lifetime expected credit losses (Stage 2 and 3) – which applies when a significant increase in credit risk has occurred on an individual or collective basis.
	8.2.2
	Credit losses

	
	Expected credit losses are a probability-weighted estimate of credit losses over the expected life of a financial instrument.

(a)
12-month credit losses are the lifetime expected credit losses arising from a default that occurs within the next 12 months after the reporting date.

(b)
Lifetime credit losses are the lifetime expected credit losses that would arise if a default occurred at any time in the term of a financial asset.


(a)
Three-stage approach
	8.2.3
	Three-stage approach (three-bucket approach)

	
	The amount of the impairment to be recognized on these financial instruments depends on whether or not they have significantly deteriorated since their initial recognition.
Stage 1:
Financial instruments whose credit quality has not significantly deteriorated since their initial recognition.
Stage 2:
Financial instruments whose credit quality has significantly deteriorated since their initial recognition.

Stage 3:
Financial instruments for which there is objective evidence of an impairment as at the reporting date.


8.2.4
For stage 1 financial instruments, the impairment represents the PV of expected credit losses that will result if a default occurs in the 12 months after the reporting date (12-month expected credit loss).
8.2.5
For financial instruments classified as stage 2 or 3, an impairment is recognized at the PV of expected credit shortfalls over their remaining life (lifetime expected credit loss). Entities are required to reduce the gross carrying amount of a financial asset in the period in which they no longer have a reasonable expectation of recovery.
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	8.2.6
	Example 12 – Stage 1 impairment loss

	
	RCC advanced an interest-bearing loan to a supplier on 1 January 2016.
The following information relates to this loan at 1 January and 31 December 2016:

1 January 2016

31 December 2016
$
$
PV of contractual cash flows
8,000,000
7,650,000

PV of expected cash flows and associated probability of default within 12 months
8,000,000 – 95%
7,750,000 – 5%
7,650,000 – 85%
5,500,000 – 8%

1,000,000 – 7%
Required:
What is the impairment loss at each date, assuming that credit risk has not increased significantly since initial recognition.

Solution:

1 January 2016

Possible outcomes
$000
$000
PV of principal and interest cash flows that are contractually due to an entity
8,000
8,000

PV of cash flows an entity expects to receive

8,000
7,750
Credit loss

0
250

Probability

95%

5%

Weighted credit loss

0

12.5

Therefore an impairment loss of $12,500 (0 + $12,500) is reccognised.
31 December 2016
Possible outcomes

$000
$000
$000
PV of principal and interest cash flows that are contractually due to an entity
7,650
7,650
7,650
PV of cash flows an entity expects to receive

7,650
5,500

1,000

Credit loss

0
2,150
6,650
Probability

85%

8%

7%

Weighted credit loss

0

172

465.5

Therefore, an impairment loss of $637,500 (0 + $172,000 + $465,500) is recognized.


(b)
Significantly increased credit risk (stage 1 to stage 2)

8.2.7
Stage 2 is reached when there is a significant increase in credit risk (i.e. the risk a borrower will default); the Application Guidance to HKFRS 9 provides information that should be considered when assessing credit risk, for example:
(a)
An actual or expected downgrade in the borrower’s credit rating.

(b)
Adverse changes in business, financial or economic conditions that affect the borrower, e.g. increased interest rates.

(c)
An actual or expected declined in the operating results of the borrower.
(d)
An actual or expected change in the regulatory, economic or technological environment of the borrower such as decline in sales demand.

8.2.8
In addition there is a rebuttable presumption that the credit risk of a financial asset has increased significantly when contractual payments are more than 30 days past due.
8.2.9
The movement from stage 1 to stage 2 is not irreversible; where credit losses have previously been measured at a lifetime amount, at a subsequent reporting date they are measured at a 12-month amount if a significant increase in credit risk is no longer evident.
(c)
Evidence of impairment (stage 2 to stage 3)

8.2.10
HKFRS 9 provides examples of evidence of impairment, including the significant financial difficulty of the borrower and breach of contract.

(d)
Interest revenue

8.2.11
For stage 1 and 2 instruments interest revenue would be calculated on their gross carrying amounts.
8.2.12
Interest revenue for stage 3 financial instruments would be recognized on a net basis (i.e. after deducting expected credit losses from their carrying amount).

	8.2.13
	Example 13 – Interest revenue

	
	On 1 January 2014 Lord Robinson (LR) acquired an investment in $600,000 8% loan stock. The investment is measured at amortised cost.

At 1 January 2014 there is a 6% probability that the borrower will default on the loan during 2014 resulting in a 100% loss.

At 31 December 2014 there is 1% probability that the borrower will default on the loan before 31 December 2015 resulting in a 100% loss.

At 31 December 2015 the borrower is expected to breach its covenants as a result of cash flow problems. There is a 40% probability of the loan defaulting over the remainder of its term.

At 31 December 2016 the borrower breached its covenants and there is a 70% probability of default over the remainder of the loan term.

Required:

What impairment loss and interest revenue are recognised at initial recognition and in each of the years ended 31 December 2014, 2015 and 2016?
Impairment allowance

Interest revenue

1 Jan 2014 (initial recognition)

6 % × $600,000 = $36,000
-

31 Dec 2014 (Stage 1)

1% × $600,000 = $6,000
$600,000 × 8% = $48,000
31 Dec 2015 (Stage 2)

40% × $600,000 = $240,000
$600,000 × 8% = $48,000
31 Dec 2016 (Stage 3)

70% × $600,000 = $420,000
($600,000 – $420,000) × 8% = $14,400
An impairment loss on a financial asset at amortised cost is recognised in profit or loss, with a corresponding entry to an allowance account, which is offset against the carrying amount of the financial asset in the statement of financial position.
1 January 2014
Dr. ($)

Cr. ($)

Profit or loss
36,000
Impairment allowance
36,000
31 December 2014
Impairment allowance (36,000 – 6,000)
30,000
Profit or loss
30,000
31 December 2015
Profit or loss (240,000 – 6,000)
234,000
Impairment allowance

234,000
31 December 2016

Profit or loss (420,000 – 240,000)
180,000

Impairment loss

180,000




8.3
Simplified approach – trade and lease receivables
8.3.1
For trade receivables and contract assets that do not have an HKFRS 15 financing element, the loss allowance is measured as lifetime expected credit losses from initial recognition.
8.3.2
This is the same as 12-month credit losses as the maturity of these assets is generally 12 months or less.

8.3.3
In the case of lease receivables, the appropriate discount rate to apply to future expected cash flows when determining credit losses is the discount rate used to measure the lease receivable.
8.3.4
For other trade receivables and for lease receivables, the entity can choose (as a separate accounting policy for trade receivables and for lease receivables) to either:

(a)
apply the three-stage general approach described in the previous section; or

(b)
recognize an allowance for lifetime expected credit losses from initial recognition.

8.3.5
A provision matrix may be used to calculate lifetime credit losses for trade receivables/contract assets. This involves grouping trade receivables (or contract assets) based on customer bases or groupings with different historical loss patterns (e.g. region, type of customer, product type). Historical provision rates are then applied, although these may be adjusted to reflect relevant current information.
	8.3.6
	Example 14 – Provision matrix

	
	Expected default rate

Gross carrying amount

Credit loss allowance

Current

0.5%

$560,000

$2,800

1 – 30 days past due
1.2%

$490,000

$5,880

31 – 60 days past due
3.4%

$250,000

$8,500

61 – 90 days past due
4.0%

$90,000

$3,600

Over 90 days past due

10.8%

$55,000

$5,940

$26,720




8.4
Purchased credit-impaired approach
8.4.1
A financial asset is described as 'credit-impaired' when one or more events that have a negative effect on future expected cash flows have already occurred.

8.4.2
Where financial assets are already credit-impaired when they are purchased/originated, the following approach is taken:
(a)
Purchased credit-impaired financial assets are initially measured at the transaction price without an allowance for expected contractual cash shortfalls that are implicit in the purchase price.

(b)
Lifetime credit losses are included in the estimated cash flows for the purposes of calculating the effective interest rate.

(c)
Interest revenue is calculated on the net carrying amount at the credit-adjusted effective interest rate.

(d)
Expected credit losses are discounted using the credit-adjusted effective interest rate determined at initial recognition.

(e)
Subsequent changes from the initial expected credit losses are recognised immediately in profit or loss.
9.
Derivatives

9.1
Characteristics of derivatives

9.1.1
A derivative is a financial instrument with the following characteristics:

(a)
Its value changes in response to the change in a specified interest rate, security price, commodity price, foreign exchange rate, index of prices or rates, a credit rating or credit index or similar variable (called the underlying).

(b)
It requires little or no initial net investment relative to other types of contract that have a similar response to changes in market conditions.

(c)
It is settled at a future date.

9.1.2
The problems of derivates

(a)
Derivatives were originally designed to hedge against fluctuations in agricultural commodity prices on the Chicago Stock Exchange. A speculator would pay a small amount (say $100) now for the contractual obligation to buy a thousand units of wheat in three months’ time for $10,000. If in three months time one thousand units of wheat costs $11,000, then the speculator would make a profit of $900 (11,000 – 100 – 10,000). This would be a 900% return on the original investment over 3 months. But if the price had dropped to $9,000, then the trader would have made a loss of $1,100 (100 + 1,000) despite the initial investment only having been $100.

(b)
This shows that losses on derivatives can be greater than the historical cost-carrying amount of the related asset. Therefore, shareholders need to be given additional information about derivatives in order to assess the entity’s exposure to loss.

(c)
In most cases, entering into a derivative is at a low cost. Therefore it is important that derivatives are recognized and disclosed in the financial statements as they have very little initial outlay but can expose the entity to significant gains and losses.

9.2
Measurement of derivatives

	9.2.1
	Measurement of derivatives

	
	(a)
On recognition, derivatives should initially be measured at fair value.

(b)
Subsequent measurement depends on how the derivative is categorized. In many cases, this will involve the derivative being measured at fair value with changes in the fair value recognized in profit or loss.

(c)
However, if the derivative is used as a hedge, then the changes in fair value should be recognized in equity.


	9.2.2
	Example 15 – Measurement of derivatives

	
	Entity A enters into a call option on 1 June 2015, to purchase 10,000 shares in another entity on 1 November 2015 at a price of $10 per share. The cost of each option is $1. Entity A has a year end of 30 September.

By 30 September the fair value of each option has increased to $1.30 and by 1 November to $1.50, with the share price on the same date being $11. Entity A exercises the option on 1 November and the shares are classified as at fair value through profit or loss.

On 1 June 2015, the cost of the option is recognized:

Dr. ($)

Cr. ($)

Call option (10,000 × $1)

10,000

Cash

10,000

On 30 September the increase in fair value is recorded:

Dr. ($)

Cr. ($)

Call option [10,000 × ($1.3 – $1)]

3,000

Profit or loss

3,000

On 1 November the option is exercise, the shares recognized and the call option derecognized. As the shares are financial assets at fair value through profit or loss, they are recognized at $110,000 (10,000 × $11)

Dr. ($)

Cr. ($)

Investment in shares at fair value

110,000

Expense – loss on call option

[(10,000 + 3,000 + 100,000) – 110,000]

3,000

Cash

100,000

Call option

13,000




10.
Hedge Accounting (避險會計)
10.1
Definitions

	10.1.1
	Definitions

	
	(a)
Hedging is a method of managing risk by designating one or more hedging instruments so that their change in fair value is offset, in whole or in part, to the change in fair value or cash flows of a hedged item.

(b)
A hedged item is an asset or liability that exposes the entity to risks of changes in fair value or future cash flows (and is designated as being hedged).

(c)
A hedging instrument is a designated derivative whose fair value or cash flows are expected to offset changes in fair value or future cash flows of the hedged item.
(d)
Hedge effectiveness is the degree to which changes in the fair value or cash flows of the hedged item attribute to a hedged risk are offset by changes in fair value or cash flows of the hedging instrument


10.2
Types of hedge

	10.2.1
	Three types of hedges

	
	HKFRS 9 identifies three types of hedge:

(a)
Fair value hedge – This hedges against the risk of changes in the fair value of a recognized asset or liability. For example, the fair value of fixed rate debt will change as a result of changes in interest rates.

(b)
Cash flow hedge – This hedges against the risk of changes in expected cash flows. For example, a UK entity may have an unrecognized contractual commitment to purchase goods in a year’s time for a fixed amount of US dollars.
(c)
Net investment hedge – This hedges against an investment in a foreign group company.


10.3
Conditions for hedging accounting

	10.3.1
	Conditions for hedge accounting

	
	Before a hedging relationship qualifies for hedge accounting, all of the following conditions must be met:
(a)
The hedging relationship must consist only of eligible hedging instruments and eligible hedged items.
(b)
There must be formal designation and documentation of the hedging relationship and the entity’s risk management objective and strategy for undertaking the hedge.
Documentation must include identification of the hedged item, the hedging instrument, the nature of the hedged risk and how the entity will assess whether the hedging relationship meets the hedge effectiveness requirements. (including its analysis of the sources of hedge ineffectiveness and how it determines the hedge ratio).
(c)
The hedging relationship meets all of the hedge effectiveness requirements:

(i)
An economic relationship exists between the hedged item and the hedging instrument, i.e. the hedging instrument and the hedged item are expected to have offsetting changes in fair value;

(ii)
The effect of credit risk does not dominate the fair value changes, i.e. the fair value changes due to credit risk are not a significant driver of the fair value changes of either the hedging instrument or the hedged item; and
(iii)
The hedge ratio of the hedging relationship (quantity of hedging instrument vs quantity of hedged item) is the same as that resulting from the quantity of the hedged item that the entity actually hedges and the quantity of the hedging instrument that the entity actually uses to hedge that quantity of hedged item.


	10.3.2
	Example 16 – Conditions for hedge accounting

	
	Green Smith Company (GSC) plans to issue $100 million loan stock on 1 July 2015 with a term of 20 years. Interest on the loan stock will be paid at a rate of 3m HIBOR.

GSC has an interest rate risk management policy under which interest rate swaps are used to hedge interest rate risk. On 1 June 2015 it enters an interest rate swap at nil consideration to pay a fixed interest rate of 2.2% and receive 3m HIBOR on a notional $100 million. The effective date of the swap is 1 July 2015 and the maturity date is 20 years later.

The hedge is formally designated on 1 June 2015 as a cash flow hedge of the variability of the highly probable interest cash flows on the forecast loan stock issue up to 1 July 2015 and on the actual bond issued to maturity for changes in 3m HIBOR.

Required:

Assess whether HKFRS 9 hedge effectiveness conditions are met.
Solution:

At inception and at each reporting date, GSC must demonstrate that it meets the three components of the HKFRS 9 hedge effectiveness requirements.
There is an economic relationship between the hedged item and the hedging instrument

The hedging instrument and hedged item should have values that generally move in the opposite direction.

In this case the terms of the hedged item and hedging instrument match and the fair value of the swap is nil at inception, therefore it can be determined that an economic relationship exists i.e. if 3m HIBOR exceeds 2.2%, the fair value of the liability (loan stock) will increase but will be offset by the fair value of the financial asset derivative; if 3m HIBOR is less than 2.2%, the fair value of the liability (loan stock) will decrease but will be offset by fair value of the financial liability derivative.
The effect of credit risk does not dominate the value changes that result from the economic relationship.
A change in the credit risk of the hedged item or hedging instrument could impact their fair values and so negate the economic relationship between the two.

In this case until the debt is issued it is not necessary to consider credit risk on the hedged item as it is a forecast transaction; after issue, GSC should determine its own credit standing and that of the counterparty. Assuming that both are of high standing, it may conclude that changes in credit risk would not dominate fair value changes.
The hedge ratio is consistent with that used for risk management purposes and s not imbalanced.

GSC is hedging loan stock with a principal of $100 million using a swap with matched maturity based on a notional $100 million. This actual hedge ratio is not imbalanced and is therefore an eligible hedge ratio. (Note that if only $80 million of the $100 million notional of the swap were designated, this would be regarded as a deliberate under hedge and so not meet the effectiveness requirements and not be eligible for hedge accounting.)



10.4
Rebalancing (重新平衡)
10.4.1
Rebalancing refers to adjustments (where there is already a hedging relationship) to the designated quantities of the hedged item or the hedging instrument for the purpose of maintaining a hedge ratio that complies with the hedge. It can be achieved by:
(a)
increasing or decreasing the volume of the hedged item or

(b)
increasing or decreasing the volume of the hedging instrument.

10.4.2
Rebalancing must be undertaken if the risk management objective remains the same but the hedge effectiveness requirements are no longer met. Where the risk management objective for a hedging relationship has changed, rebalancing does not apply and the hedging relationship must be discontinued.
	10.4.3
	Example 17 – Hedge ratio and rebalancing

	
	A company purchases raw material at a discounted price compared to the commodity price. This discount reflects the fact that the raw material is not processed to the same level as the commodity. Management note there is a correlation between the raw material price and commodity price such that on average the commodity price is 1.5 times the raw material price. At the start of year 1, the company therefore uses a notional 1 tonne of forward contract for the commodity to hedge highly probable forecast purchases of 1.5 tonnes of the raw material. The hedge ratio is therefore set at 1 : 1.5.
Now, assuming that the relationship between the commodity price and raw material price changes over year 1 such that by the end of the year the commodity price has decreased to an average 1.3 times the raw material price. In this case, management of the reporting entity might reset the hedge ratio to 1 : 1.3. Therefore to rebalance the hedging relationship management can either:
· Increase the raw material that forms the hedged item so that the hedged item is 1.15 tonnes (1 / 1.3 × 1.5), or

· Decrease the commodity that forms the hedging instrument, so that the hedging instrument is 1.3 tonnes.


10.5
Accounting for a fair value hedge

	10.5.1
	Accounting treatment for fair value hedge

	
	In a fair value hedge:
(a)
The gain or loss on the hedging instrument is recognized in profit or loss, and
(b)
The gain or loss on the hedged item is recognized in profit or loss. This also applies if the hedged item is a debt instrument (financial asset) measured at FVTOCI.

(c)
If the hedged item is an equity instrument for which an entity has elected to present changes in fair value in OCI, then the gain or loss is recognized in OCI.
(d)
When the hedged item is an unrecognized firm commitment, the cumulative change in fair value of the hedged item subsequent to designation as a hedged item is recognized as an asset or liability and a corresponding amount is recognized in profit or loss.


	10.5.2
	Example 18 – Fair value hedge

	
	A company owns inventories of 30,000 gallons of oil which cost $660,000 on 1 December 2016.

In order to hedge the fluctuation in the market value of the oil the company signs a futures contract to deliver 30,000 gallons of oil on 31 March 2017 at the futures price of $25 per gallon.

The market price of oil on 31 December 2016 is $27 per gallon and the futures price for delivery on 31 March 2017 is $30 per gallon.

Required:

Explain the impact of the transactions on the financial statements of the company:

(a)
Without hedge accounting

(b)
With hedge accounting

Solution:

The futures contract was intended to protect the company from a fall in oil prices (which would have reduced the profit when the oil was eventually sold). However, oil prices have actually risen, so that the company has made a loss on the contract.

Without hedge accounting

The futures contract is a derivative and therefore must be remeasured to fair value at 31 December 2016 under HKFRS 9. The loss on the futures contract is recognised in profit or loss:

Dr. ($)

Cr. ($)

Profit or loss [30,000 × (30 – 25)]
150,000
Financial liability
150,000
With hedge accounting
The loss on the futures contract is recognized in profit or loss as before, however with hedge accounting, the inventories are also remeasured to fair value:
$
Fair value at 31 December 2016 (30,000 × 27)
810,000
Cost

(660,000)
Gain

150,000

The gain is recognized in profit or loss:

Dr. ($)

Cr. ($)

Inventory
150,000
Profit or loss
150,000
With hedge accounting the net effect on profit or loss is zero compared with a loss of $150,000 without hedging.


	10.5.3
	Example 19 – Fair value hedge

	
	As at 1 January 2016, a company purchases a debt instrument that has a principal amount of $1 million at a fixed interest rate of 6% per year. The instrument is classified as a financial asset measured at fair value through other comprehensive income. The fair value of the instrument is $1 million.

The company is exposed to a risk of the decline in the fair value of the instrument if the market interest rate increases because of the fixed interest rate.

The company enters into an interest rate swap. It exchanges the fixed interest rate payments it receives on the bond for floating interest rate payments, in order to offset the risk of a decline in fair value. If the derivative hedging instrument is effective, any decline in the fair value of the bond should be offset by opposite increases in the fair value of the derivative instrument. The company designates and documents the swap as a hedging instrument. On entering into the swap, the swap has a fair value of zero.

Assuming market interest rates have increased to 7%, the fair value of the bond will have decreased to $960,000.

At the same time, the company determines that the fair value of the swap has increased by $40,000. Since the swap is a derivative, it is measured at fair value with changes in fair value recognised in profit or loss. The changes in fair value of the hedged item and the hedging instrument exactly offset each other and the net effect on profit or loss is zero. Assume all hedging conditions have been met.

Required:
Explain the impact of the transactions on the financial statements of the company with hedge accounting.
Solution:

Statement of financial position
1.1.2016

Change in FV

31.12.2016
$000

$000

$000

Debt instrument (hedged item)
1,000
(40)
960
Derivative asset (hedging instrument)
-

40

40

Cash

(1,000)
Statement of profit or loss

$000
Loss on debt instrument
(40)

Gain on derivative

40

No ineffectiveness
-
Gain and losses on hedged item and hedging instrument are both recognized in the statement of profit or loss.

Journal entries

1.1.2016

Dr. ($)

Cr. ($)

Financial asset – debt instrument
1,000,000
Cash
1,000,000
To recognized the debt instrument at its fair value
31.12.2016

Profit or loss

40,000
Financial asset – debt instrument
40,000

To remeasure the debt instrument to fair value at the reporting date.
Financial asset – derivative

40,000
Profit or loss

40,000

To measure the interest rate swap at fair value at the reporting date.



10.6
Accounting for a cash flow hedge

10.6.1
A cash flow hedge involves hedging future cash flows. Initially therefore, only the hedging instrument (the derivative) is recognized.
	10.6.2
	Accounting treatment for cash flow hedge

	
	(a)
The part of the gain or loss arising from an effective hedge of a hedging instrument is recognized in OCI while the ineffective portion of the gain or loss on the hedging instrument should be recognized in profit or loss.
(b)
The amount that has been accumulated in the cash flow hedge reserve is then accounted for as follows:
(i)
if a hedged forecast transaction subsequently results in the recognition of a non-financial asset or non-financial liability, the amount shall be removed from the cash flow hedge reserve and be included directly in the initial cost or carrying amount of the asset or liability.
(ii)
for all other cash flow hedges, the amount shall be reclassified from OCI to profit or loss in the same period that the hedged expected future cash flows affect profit or loss.


	10.6.3
	Example 20 – Cash flow hedge

	
	Randall Co. expected to purchase an item of plant for 20 million South African rand in one year's time on 31 August 2016. In order to offset the risk of movement in the exchange rate, Randall enters into a forward contract to purchase rand 20 million in one year for a fixed amount ($20,500,000). The forward contract is designated as a cash flow hedge and has an initial fair value of zero.

At the year end (31 December 2016), the rand has appreciated and the value of rand 20 million is $20,650,000. The machine will still cost rand 20 million so the company concludes that the hedge is 100% effective. Thus the entire change in the fair value of the hedging instrument is recognized directly in other comprehensive income:
Dr. ($)

Cr. ($)

Forward contract
150,000
Other comprehensive income (cash flow hedge reserve)
150,000
The effect of the cash flow hedge is to lock in the price of rand 20 million for the item of plant.


	10.6.4
	Example 21 – Cash flow hedge

	
	Sparkle is a manufacturer and retailer of gold jewellery.

On 31 October 2015, the cost of Sparkle's inventories of finished jewellery was $8.280 million with a gold content of 24,000 troy ounces. At that date their sales value was $9.938 million.

The selling price of gold jewellery is heavily dependent on the current market price of gold (plus a standard percentage for design and production costs).

Sparkle's management wished to reduce their business risk of fluctuations in future cash inflow from sale of the jewellery by hedging the value of the gold content of the jewellery. In the past this has proved to be an effective strategy.

Therefore, it sold futures contracts for 24,000 troy ounces of gold at $388 per troy ounce at 31 October 2015. The contracts mature on 30 October 2016.

On 30 September 2016 the fair value of the jewellery was $9.186 million and the forward price of gold per troy ounce for delivery on 30 October 2016 was $352.

Required:

Explain how the above transactions would be treated in Sparkle's financial statements for the year ended 30 September 2016.
Solution:

Sparkle is hedging the volatility of the future cash inflow from selling the gold jewellery. The futures contracts can be accounted for as a cash flow hedge in respect of those inflows, providing the criteria for hedge accounting are met.
The gain on the forward contract should be calculated as:

$
Forward value of contract at 31.10.2015 (24,000 × $388)

9,312,000

Forward value of contract at 30.9.2016 (24,000 × $352)

8,448,000
Gain on contract

864,000
The change in the fair value of the expected future cash flows on the hedged item (which is not recognized in the financial statements) should be recognized as:

$
At 31.10.2015

9,938,000

At 30.9.2016

9,186,000
752,000

As this change in fair value is less than the gain on the forward contract, the hedge is not fully effective and only $752,000 of the gain on the forward should be recognised in other comprehensive income. The remainder should be recognised in profit or loss:
Dr. ($)

Cr. ($)

Financial asset (Forward a/c)
864,000
Other comprehensive income
752,000
Profit or loss
112,000
A hedging relationship continues to qualify for hedge accounting if it is effective. In this case:

· An economic relationship continues to exist between the hedged item and hedging instrument (since they are both gold); and

· The effect of credit risk does not dominate the value changes that result from the economic relationship.
· The third criteria for hedge effectiveness is that the hedge ratio of the hedging relationship is the same as that resulting from the quantity of hedged item that the entity actually hedges and the quantity of hedging instrument that the entity actually uses to hedge that quantity of hedged items.
· Since this hedge relationship results in a gain on futures contract of $864,000 but a loss on hedged item of only $752,000, it appears that the relationship should be rebalanced,
· The current hedge ratio is 1:1 (with hedged item and hedging instrument both based on 24,000 troy ounces of gold); to maintain 100% effectiveness this should be reset by reducing the quantity of hedging instrument to 20,889 troy ounces (752/864 × 24,000) or increasing the quantity of hedged item to 27,574 troy ounces (864/752 × 24,000).


	10.6.5
	Example 22 – Cash flow hedge

	
	On 1 January 2014, Arlington Co. lends $10 million to another entity, with a maturity date of three years later on 31 December 2016. The interest rate attached to the loan is variable at HIBOR + 2%, and interest is due annually on 31 December.

Arlington expects interest rates to decline and so simultaneously enters an interest rate swap on 1 January 2014 in order to hedge its position.

The terms of the swap are as follows:

· There is no initial cost.
· The notional principal is $10 million.

· Arlington will receive fixed interest at 7%.

· Arlington will pay variable interest at HIBOR.

· Net settlement is made annually on 31 December, and the swap is also repriced on this date.

The fair value of the swap, determined by projecting future settlement amounts using the current year's variable rate and discounting these to present value is:
31 December 2014

$300,000
31 December 2015

$125,000
31 December 2016

nil
HIBOR at each of these dates is:
31 December 2014

7%

31 December 2015

6%

31 December 2016

5%

All criteria for cash flow hedge accounting have been met and the hedging relationship is expected to be 100% effective at inception and on an ongoing basis.

Required:

What journal entries are required in respect of the loan and cash flow hedge throughout the three-year term?

Solution:

The purpose of the cash flow hedge is to fix the interest receivable at 9%. Interest receivable per the terms of the loan agreement is:
31 December 2014
$10m × (7% + 2%) =
$900,000
31 December 2015
$10m × (6% + 2%) =
$800,000
31 December 2016

$10m × (5% + 2%) =
$700,000
The net settlement in respect of the swap on each of these dates is:
Date
Swap receipt at 7%

Swap payment at HIBOR

Swap net

$

$

$

31 December 2014
700,000

(700,000)

Nil

31 December 2015
700,000

(600,000)

100,000

31 December 2016

700,000

(500,000)

200,000

Therefore, in each of the three years, the total amount of the interest income (i.e. loan interest income + net position on the swap) is $900,000.

1.1.2014
Dr. ($)

Cr. ($)

Loan receivable
10,000,000
Cash
10,000,000
To record the inception of the loan.

(Note: No entry is required in respect of the swap as it was acquired at no cost.)

1.12.2014
Dr. ($)

Cr. ($)

Cash
900,000
Interest income
900,000
To record the receipt of interest in respect of the loan
Interest rate swap

300,000
Other comprehensive income

300,000
To record the fair value of the interest rate swap
31.12.2015

Cash
800,000
Interest income

800,000

To record the receipt of interest in respect of the loan

Cash

100,000

Other comprehensive income

100,000

To record the cash received on net settlement of the interest rate swap

Other comprehensive income

100,000
Interest income

100,000

To recycle into earnings amounts in OCI on account of the cash flow hedge, so that they are matched with the relevant cash flow.

Other comprehensive income

175,000
Interest rat swap

175,000

To reduce the carrying value of the interest rate swap from its initial fair value of $300,000 to current fair value of $125,000

31.12.2016

Cash

700,000
Interest income

700,000

To record the receipt of interest in respect of the loan.
Cash

200,000
Other comprehensive income

200,000

To record the cash received on net settlement of the interest rate swap.

Other comprehensive income

200,000
Interest income

200,000

To recycle into earnings amounts in OCI on account of the cash flow hedge, so that they are matched with the relevant cash flow.

Other comprehensive income
125,000

Interest rate swap (300,000 – 175,000)
125,000

To adjust the carrying value of the interest rate swap to current fair value
Cash

10,000,000
Loan receivable

10,000,000

To record repayment of the loan at maturity date.




	Question 2

On 1 January 2011, Omega signed a contract to purchase a machine from a foreign supplier on 30 June 2011. The purchase price of the machine, payable in cash on 30 June 2011, was 2 million shillings. On 1 January 2011, Omega entered into a forward contract to purchase 2 million shillings on 30 June 2011 for $1·1 million. On 31 March 2011, a contract to buy 2 million shillings on 30 June 2011 would have required a payment of $1·2 million.
On 30 June 2011 the spot rate of exchange was 1·6 shillings = $1. The forward contract was settled by the other party making a payment of $150,000 to Omega on that date.
Omega estimated that the useful economic life of the machine was five years from 30 June 2011, with no residual value. Omega uses hedge accounting whenever permitted by HKAS 39 – Financial Instruments: Recognition and Measurement. The currency contract fully complies with the criteria and conditions for hedge accounting as set out in HKAS 39.
Required:
Explain the accounting treatment required for the above machine and foreign currency contract, also preparing extracts from the financial statements (statement of comprehensive income and statement of financial position) for the years ended 31 March 2011 and 31 March 2012.
(9 marks)

(Adapted ACCA Diploma in IFR June 2012 Q4b)


	Question 3

Seltec, a public limited company, processes and sells edible oils and uses several financial instruments to spread the risk of fluctuation in the price of the edible oils. The entity operates in an environment where the transactions are normally denominated in dollars. The functional currency of Seltec is the dollar.
The entity uses forward and futures contracts to protect it against fluctuation in the price of edible oils. Where forwards are used the company often takes delivery of the edible oil and sells it shortly afterwards. The contracts are constructed with future delivery in mind but the contracts also allow net settlement in cash as an alternative. The net settlement is based on the change in the price of the oil since the start of the contract. Seltec uses the proceeds of a net settlement to purchase a different type of oil or purchase from a different supplier. Where futures are used these sometimes relate to edible oils of a different type and market than those of Seltec’s own inventory of edible oil. The company intends to apply hedge accounting to these contracts in order to protect itself from earnings volatility. Seltec has also entered into a long-term arrangement to buy oil from a foreign entity whose currency is the dinar. The commitment stipulates that the fixed purchase price will be denominated in pounds sterling.
Seltec is unsure as to the nature of derivatives and hedge accounting techniques and has asked your advice on how the above financial instruments should be dealt with in the financial statements.
Required:

Discuss the accounting principles involved in accounting for the above transaction and how the above transaction should be treated in the financial statement of Seltec.
(14 marks)


(ACCA P2 Corporate Reporting June 2010 Q3(a))


10.7
Hedges of a net investment

10.7.1
Hedges of a net investment arise in the consolidated accounts where a parent company takes a foreign currency loan in order to buy shares in a foreign subsidiary.

10.7.2
The loan and the investment need not be denominated in the same currency, however, assuming that the currencies perform similarly against the parent company's own currency, it should be the case that fluctuations in the exchange rate affect the asset (the net assets of the subsidiary) and the liability (the loan) in opposite ways, hence gains and losses are hedged.
10.7.3
In this type of accounting hedge, the hedging instrument is the foreign currency loan rather than a derivative.

10.7.4
You may understand this type of hedge better after studying “Consolidation of Foreign Operations”, but in a simple sense, without applying hedging rules:

(a)
The loan would be retranslated to the parent's own currency at the year end using the spot exchange rate; any resultant gain or loss would be recognised in profit or loss.

(b)
Prior to consolidation, the subsidiary's accounts would be translated into the parent's own currency with any gain or loss recognised in other comprehensive income.

(c)
On consolidation, the gain or loss on the loan would affect consolidated profit or loss and the loss or gain on the translation of the subsidiary's net assets would affect consolidated reserves.

	10.7.5
	Accounting treatment for net investment hedge

	
	The net investment hedge ensures that the gains and losses are both recognized in OCI and accumulated in reserves by:
(a)
recognizing the portion of the gain or loss on the hedging instrument that is determined to be effective in OCI.
(b)
recognizing the ineffective portion in profit or loss.
Any gain or loss recognized in OCI is reclassified to profit or loss on the disposal or partial disposal of the foreign operation.


	10.7.6
	Example 23 – Hedge of a net investment

	
	Tree Traders (TT) acquired a majority share of Branch Stores (BS) on 1 January 2016 at a cost of HK$200 million. BS is an Australian company and the acquisition was financed by way of an Australian dollar loan for A$34 million. The exchange rate on the date of acquisition was HK$1:A$0.17 and this had moved to HK$1: A$0.19 by the reporting date, 31 December 2016.

BS reports its financial statements in Australian dollars and these are translated to Hong Kong dollars for the purpose of preparing the consolidated financial statements. The exchange loss arising on the translation of BS financial statements for the year ended 31 December 2016 was HK$18.5 million.

Required:

(a)
Assuming that the loan is a designated hedging instrument to hedge exchange differences on the investment in the subsidiary and hedge effectiveness tests have been met, explain how the hedge is accounted for in the year ended 31 December 2016.

(b)
How would your answer differ if the exchange loss on the translation of BS financial statements for the year ended 31 December 2016 was HK$22.5 million?
Solution:

(a)

· The exchange loss on retranslation of the BS financial statements is HK$18,500,000 and this is recognised in consolidated other comprehensive income.

· The loan is initially measured at HK$200,000,000 (A$34,000,000/0.17); at the year end it is measured at HK$178,947,268 (A$34,000,000/0.19), resulting in an exchange gain of HK$21,052,632. Of this:

· HK$18,500,000 is effective and is recognised as other comprehensive income to net against the exchange loss on retranslation of the BS financial statements;

· HK$2,552,632 (21,052,632 – 18,500,000) is ineffective and is recognised in profit or loss.
(b)

· The exchange loss on retranslation of the BS financial statements is HK$22,500,000 and this is recognised in consolidated other comprehensive income.

· The exchange gain on the loan is HK$21,052,632 (as above). The whole gain is effective and is recognised in other comprehensive income, netting off with the exchange loss on retranslation of the BS financial statements to leave a net loss of HK$1,447,368 (HK$22,500,000 – HK$21,052,632).


11.
Disclosure of Financial Instruments

11.1
General disclosure

11.1.1
HKFRS 7 Financial Instruments: Disclosures provides the disclosure requirements for financial instruments. A summary of the requirements is detailed below.

11.1.2
The two main categories of disclosures required are:

(a)
information about the significance of financial instruments.

(b)
information about the nature and extent of risks arising from financial instruments.

11.2
Significance of financial instruments

11.2.1
HKFRS 7 requires disclosures for significance of financial instruments in the following aspects:

(a)
statement of financial position;

(b)
income statement and equity; and

(c)
other disclosures.

11.2.2
HKFRS 7 requires the carrying amounts for each of the following categories to be disclosed either on the face of the statement of financial position or in the notes:

(a)
financial assets at fair value through profit or loss;
(b)
financial assets measured at amortised cost.

(b)
financial liabilities at fair value through profit or loss;

(c)
financial liabilities measured at amortised cost.

11.2.3
An entity must disclose items of income, expense, gains and losses with separate disclosure of gains and losses from each class of financial instrument.

11.3
Nature and extent of risks arising from financial instruments

11.3.1
Qualitative disclosures – it describe:

(a)
risk exposures for each type of financial instrument

(b)
management’s objectives, policies, and processes for managing those risks

(c)
changes from the prior period

11.3.2
Quantitative disclosures – this disclosures provide information about the extent to which the entity is exposed to risk, based on information provided internally to the entity’s key management personnel. These disclosures include:

(a)
summary quantitative data about exposure to each risk at the reporting date

(b)
disclosure about credit risk, liquidity risk, and market risk as further described below.

(c)
concentrations of risk.

11.4
Types of risks

11.4.1
Market risk – This refers to the possibility that the value of an asset might go up or down. There are three types of market risk: currency risk, interest rate risk and price risk.

(a)
Currency risk is the risk that the value of a financial instrument will fluctuate due to changes in foreign exchange rates.

(b)
Fair value interest rate risk is the risk that the value of a financial instrument will fluctuate due to changes in market interest rates.

(c)
Price risk refers to other factors affecting price changes. These can be specific to the enterprise (bad financial results will cause a share price to fall), relate to the sector as a whole (all Tech-Stocks boomed in the late nineties, and crashed in the new century) or relate to the type of security (bonds do well when shares are doing badly, and vice versa).

11.4.2
Credit risk is the risk that one party to a financial instrument will fail to discharge an obligation and cause the other party to incur a financial loss. For example, a bank is exposed to credit risk on its loans, because a borrower might default on its loan.

11.4.3
Liquidity risk (funding risk) is the risk that an enterprise will encounter difficulty in raising funds to meet commitments associated with financial instruments. For example, a business may be unable to repay its loans when they fall due.

11.4.4
Cash flow interest rate risk is the risk that future cash flows associated with a monetary financial instrument will fluctuate in amount due to changes in market interest rates. In the case of a floating rate debt instrument, for example, such fluctuations result in a change in the effective interest rate of the financial instrument, usually without a corresponding change in its fair value.
Additional Examination Style Questions
Question 4 – Convertible bonds

Anna Manufacturing Limited (AML), a company listed on the Hong Kong Stock Exchange, had a convertible bond (CB) with a principal amount of HK$800 million issued on 1 December 2008. Fixed interest at 6% per annum is payable annually in arrears. The holders are entitled to convert the CB into 50 million ordinary shares of HK$2 par value each of AML at any time before the redemption by AML at 30 November 2012 at principal amount.

On 1 April 2010, the holders of CB exercised their options to convert into shares in AML. On the same date, AML borrowed an interest-free loan of HK$500 million from its major shareholder for a term of two years.

Effective interest rate of AML’s other external borrowings was 8% and 6% per annum on 1 December 2008 and 1 April 2010 respectively.

The functional currency of AML is the Hong Kong dollar.

Required:

(a)
Prepare journal entries for the issue of CB on 1 December 2008.
(5 marks)

(b)
Prepare journal entries for the conversion of CB into shares 1 April 2010.



(5 marks)

(c)
Prepare journal entries for the recognition of the interest-free loan on 1 April 2010.
(4 marks)


(HKICPA QP Model A Financial Reporting December 2010 Q4)
Question 5 – Modification of loan term
Howard Development Limited (“HDL”) has financial difficulties and successfully renegotiated the contractual terms of a bank loan of principal HK$200 million on 30 June 2009, the date of the statement of financial position:

	
	Original
	Modified

	Term of interest
	8% payable yearly in arrears
	6% payable yearly in arrears since 1 July 2009

	Date of repayment
	30 June 2010
	30 June 2013


The original effective interest rate is 8 per cent. No fees for renegotiating the finance are payable.

The holders of 100 units of HK$1 million, 4 per cent convertible bonds (the “Bonds”) of HDL have agreed to convert the Bonds into 250 million ordinary shares of HK$0.1 par on 30 June 2009 and waive the payment of interest. Each unit of the Bonds was originally convertible into 2 million ordinary shares and with a maturity date of 30 June 2010. Interest is payable yearly in arrears.

The carrying amount of the Bonds as at 30 June 2009 is as followings:
	
	HK$

	Current liabilities:
	

	The Bonds (effective interest rate: 8%)
	96,296,296

	Bonds interest payable
	4,000,000

	
	

	Equity:
	

	Convertible bonds equity reserve
	7,133,058


The market price of the ordinary shares of HDL on 30 June 2009 was HK$0.45.
Required:

(a)
Discuss the accounting treatment for HDL in relation to the modification of the terms of the bank loan.
(8 marks)

(b)
Prepare the journal entries that HDL should make on 30 June 2009 in relation to the conversion of the Bonds.
(7 marks)


(HKICPA QP Module A Financial Reporting February 2010 Q4)
Question 6 – HKFRS 9 and HKAS 32
Company J, a company engaged in the metal trading business in Hong Kong with functional currency of Hong Kong dollars (“HK$”), has the following investments as at 31 December 2010:
1.
A debenture of RMB10 million which carries interest at 3% per annum payable semi-annually and will mature at 30 September 2013.

2.
An equity linked deposit of HK$8 million with semi-annual coupon linked to performance of a basket of listed securities listed on The Stock Exchange of Hong Kong Limited and maturity at 30 June 2012.

3.
200,000 ordinary shares of Company Y listed on The Stock Exchange of Hong Kong Limited.
Required:

(a)
Assuming the entity has early adopted HKFRS 9 Financial Instruments, discuss how Company J shall account for the above investments in the financial statements for the year ended 31 December 2010 in accordance with HKFRS 9 and other applicable standards.
(10 marks)

(b)
Explain the difference between a refundable deposit to a supplier for steel purchase and a prepayment for steel supply (with physical delivery) in the context of HKAS 32 Financial Instruments: Presentation.
(4 marks)


(HKICPA QP Module A Financial Reporting June 2011 Q4)

Question 7 – HKAS 32, EPS and HKFRS 7
Marsh Global Limited (MG) is a company listed on The Stock Exchange of Hong Kong Limited with an issued capital of 1,000 million ordinary shares of $1 par. The board of directors is considering the funding needs to finance the expansion of its businesses in mainland China, and two options are under discussion:
	Option 1:
	A rights issue of 200 million ordinary shares at $5 per share.

	Option 2:
	A four-year convertible bond of $1,000 million with semi-annual interest of 2% payable on 1 April and 1 October. Every $8 bond can be converted into 1 ordinary share of MG from 1 July 2012 until 31 December 2015, the redemption date of the convertible bond.


The relevant fund raising exercise is planned to be completed by the end of December 2011.
Required:

You are the chief financial officer of MG and you are requested by the board of directors to prepare an analysis of the impact of these two options on:
(a)
the financial position of MG as at 31 December 2011.
(5 marks)
(b)
the earnings per share of MG for the year ending 31 December 2012, assuming (i) the estimated profit before finance expenses is $800 million, and (ii) the funds raised and the expansion of business in mainland China will only affect the earnings of MG from 2013 ; and
(6 marks)
(c)
the disclosure of financial risks under HKFRS 7.
(4 marks)

(Assume MG’s bank borrowings are carried at an interest rate of 2.5% semi-annually and ignore the tax effect)

(HKICPA QP Module A Financial Reporting December 2011 Q4)
Question 8 – Hedge accounting
(a)
On 1 January 2011, Sonna Inc. (SC) issued HK$2,000 million of three-year Hong Kong Interbank Borrowing Rate (HIBOR) plus 180 basis points variable rate bond at par value. Interest is payable annually. On the same date, SC entered into an interest rate swap with a bank by paying 2 per cent fixed interest amount and receiving HIBOR plus 180 basis points for three-year and exchange at the dates of interest payment dates. SC measures the bond at amortised cost.
Required:

(i)
Explain the difference between the fair value interest rate risk and the cash flow interest rate risk in the context of a bank loan.
(2 marks)
(ii)
Explain what a hedged item and hedging instrument are and discuss how hedge accounting affects the accounting treatment of a hedging instrument in the financial statements under cash flow hedges.
(6 marks)
(iii)
Assuming hedge accounting is not adopted, explain the accounting treatment for the bond and interest rate swap if the market interest rate is increased by 0.5% on 30 September 2011, the current year end date (no quantification of the effect is required).
(5 marks)

(b)
On 1 August 2011, SC entered into a non-cancellable purchase order to acquire equipment from Monta Corporation, a Japanese entity, at Yen 300 million. Payment is made upon delivery of the equipment to Hong Kong on 31 December 2011. On 30 September 2011, SC entered into a forward contract to exchange Yen 300 million at a pre-determined exchange rate between the Yen and Hong Kong dollar on 31 December 2011. The functional currency of SC is the Hong Kong dollar.
Required:

Discuss the accounting implications for the purchase contract and forward contract if fair value hedge accounting is adopted.
(4 marks)

(HKICPA QP Module A Financial Reporting June 2012 Q5)
Question 9 – HKFRS 9 and HKFRS 13

Zegard Investment Limited (ZIL) has a portfolio of investments at 30 June 2013 with costs as

follows:
	
	$ million

	3,000,000 ordinary shares of Long Pont Limited (LP), a company listed on London Stock Exchange, which represent less than 1% of the total number of issued shares of LP.
	9.0

	400 ordinary shares of Printon Medical Inc. (PMI), a privately owned entity, which accounted for 10% equity interest in PMI.
	8.0

	6 million shares of Micro Vision Company (MVC), a privately owned entity, with total number of issued shares of 14 million. ZIL can appoint three out of eight directors to the board of MVC.
	12.0

	A loan lent to Goldstan Enterprise (GE) on 1 January 2013, carried interest at HIBOR plus 4% payable in arrears at the anniversary date of the lending, repayable on 31 December 2016. The rate of HIBOR is determined at 1 January of each annual period.
	15.0


Required:

(a)
Explain the appropriate accounting treatment (including classification between current and non-current presentation) for the above investments in the consolidated statement of financial position of ZIL as at 30 June 2013 in accordance with HKFRS 9 Financial Instruments and other applicable standards.



(14 marks)
(b)
For those investments which will be subsequently measured at fair value after acquisition, identify the appropriate level of fair value hierarchy under HKFRS 13 Fair Value Measurement.
(4 marks)


(HKICPA QP Module A Financial Reporting June 2014 Q4)
Question 10 – HKFRS 9
Good Product Limited (GPL), a Bermuda company listed on the Hong Kong Stock Exchange, has issued a Hong Kong Dollar convertible bond (CB) with a principal amount of HK$500 million on 1 July 2013. GPL adopts 31 December as its financial year-end. The coupon interest is 3% per annum and payable annually in arrears. The maturity of the CB is 30 June 2019. The holders are entitled to redeem at par together with any accrued interest upon maturity. The CB holders are entitled to convert the CB into 100 million ordinary shares of HK$1 each of GPL on or before maturity.
On 1 October 2013, certain holders exercised their options to convert into shares in GPL for a principal amount of HK$50 million.
The prevailing market interest rate of a similar type of instrument without a conversion option is 6.3%. The functional currency and presentation currency of GPL is Renminbi (RMB) and HK dollar (HK$) respectively.
On 1 July 2013, the fair value of the conversion option was HK$80 million and the fair value of the liability component was HK$420 million. On 1 October 2013, the fair value of the conversion option was HK$70 million and the fair value of the liability component was HK$430 million. On 31 December 2013, the fair value of the conversion option was HK$100 million and the fair value of the liability component was HK$420 million.
For a compound instrument issued by GPL, GPL adopts an accounting policy to account for the debt component at amortised cost and the conversion option, being an equity component is not remeasured. For a hybrid instrument issued by GPL, GPL adopts an accounting policy to account for the debt component at amortised cost and the conversion / early redemptions option, being a derivative component, at fair value through profit or loss.
Required:

(a)
Discuss the accounting implications and prepare the journal entries with detailed calculations for the issue of CB on 1 July 2013.
(5 marks)

(b)
Prepare the journal entries with detailed calculations for the partial conversion of CB on 1 October 2013.
(5 marks)

(c)
Assume there had not been any conversion in part (b), prepare the journal entries with detailed calculations for the CB as at 31 December 2013 and discuss the classification of current / non-current of the CB in the statement of financial position.
(6 marks)


(HKICPA QP Module A Financial Reporting December 2014 Q6)
Question 11 – HKFRS 9
As at 31 December 2014, Happy Investment Limited (“HIL”) has the following financial instruments:

(i)
The shareholder has provided a loan of HK$15 million to HIL on 1 March 2014 for a maturity period of five years. The loan is interest-bearing at simple interest of 2% per annum while the market interest rate is 5% per annum. All the principal and interest payments will be repaid upon maturity. The effective interest rate is approximately 5%.

(ii)
HIL purchased 2,000,000 shares of SUN Limited, a company listed on the Singapore Stock Exchange, at a cost of HK$8 million on 30 April 2014. HIL intended to hold these shares for the long term strategic purposes and because volatility in profit or loss is not preferable when choosing accounting policies. The market price of the share of SUN Limited is HK$5 per share as at 31 December 2014.

(iii)
HIL has placed a deposit of HK$3 million with a bank on 1 July 2014 and the return on the deposit is linked to the Hang Seng Index. The bank statement showed that the value of the deposit is HK$3.5 million as at 31 December 2014.
Required:
(a)
Explain the accounting implications for each of the above events in accordance with HKFRS 9 Financial Instruments.
(8 marks)

(b)
Prepare the journal entries for each of the above events in the preparation of the consolidated financial statements of HIL for the year ended 31 December 2014.



(8 marks)


(HKICPA QP Module A Financial Reporting June 2015 Q6)

Question 12 – Hybrid instruments
Simple Company Limited ("SCL"), a company listed on the Hong Kong Stock Exchange, has issued a convertible bond ("CB") with a principal amount of HK$200 million on 1 April 2014. The coupon interest is 2% per annum and payable annually in arrears. The maturity of the CB is 31 March 2017. The holders are entitled to redeem at par together with any accrued interest upon maturity. The CB holders are entitled to convert the CB into ordinary shares of SCL at a variable conversion price on or before maturity. The conversion price would be 20% below the market price of each share at the date of conversion.
On 30 June 2014, certain holders exercised their options to convert into shares in SCL for a principal amount of HK$40 million. The conversion price at that date was HK$5 per share of SCL.
The prevailing market interest rate of a similar type of instrument without a conversion option was 6.1%. The functional currency and presentation currency of SCL is the Hong Kong dollar. SCL adopts 31 December as its financial year-end.
On 1 April 2014, the fair value of the conversion option was HK$40 million and the fair value of the liability component was HK$160 million. On 30 June 2014, the fair value of the conversion option was HK$50 million and the fair value of the liability component was HK$150 million. On 31 December 2014, the fair value of the conversion option was HK$65 million and the fair value of the liability component was HK$165 million.
For a compound instrument issued by SCL, SCL adopts an accounting policy to account for the debt component at amortised cost and the conversion option, being an equity component, is not remeasured.
For a hybrid instrument issued by SCL, SCL adopts an accounting policy to account for the debt component at amortised cost and the conversion / early redemptions option, being a derivative component, at fair value through profit or loss.
Required:

(a)
(i)
Explain how the CB will be accounted for under the above scenario.



(2 marks)

(ii)
Prepare the journal entries with detailed calculations for the issue of the CB on 1 April 2014 and the partial conversion of the CB on 30 June 2014.


(6 marks)

(b)
Assume there had not been any conversion in Question 5(a)(ii), prepare the journal entries with detailed calculations for the CB as at 31 December 2014.


(4 marks)

(c)
Explain how the CB will be accounted for assuming the conversion price had been fixed at HK$4 per share upon issuance and other terms remained constant.


(2 marks)

(HKICPA QP Module A Financial Reporting December 2015 Q5)
Question 13 – Treasury shares and accounting treatment of subsidiary’s shares
Robust Ground Limited (“RGL”) is incorporated in Bermuda and listed on the Stock Exchange of Hong Kong Limited. The board of directors is considering to buy back the company’s shares from the stock market by RGL itself or by a subsidiary of RGL (“Subsidiary”) as RGL’s shares are trading at a discount to the net asset value per share and the repurchases would increase the net asset value per share of RGL.
Mr Kong, the financial controller of RGL, has advised the board of directors that the shares of RGL held by the Subsidiary have to be recognised at fair value through profit or loss if the Subsidiary acquires the RGL’s shares with a view to earn a trading gain. Taking into account the advice from Mr Kong, the board of directors has chosen to repurchase RGL’s shares by the Subsidiary. To avoid the recognition of a fair value loss on RGL’s shares, Mr Kong asked Ms Lee, the accountant of RGL, to record the RGL’s shares using a higher share price at year-end compared with the actual market price at year-end. Mr Kong told Ms Lee that he would be in a big trouble if the company makes losses due to his advice and they could also receive a large bonus if they can recognise a fair value gain in reporting the result of RGL to the board of directors. Both Mr Kong and Ms Lee are members of the Hong Kong Institute of Certified Public Accountants.
Required:

(a)
Explain the accounting implication for the repurchase of shares made by RGL itself or made by the Subsidiary in the consolidated financial statements of RGL in accordance with relevant accounting standards.
(3 marks)

(b)
Comment on Mr Kong’s advice that “the shares of RGL held by the Subsidiary are recognised at fair value through profit or loss if the Subsidiary acquires the RGL’s shares with a view to earn a trading gain” in the context of the financial statements of the Subsidiary and the consolidated financial statements of RGL and its Subsidiary.
(3 marks)

(c)
Advise as to the ethical issues involved in this case in accordance with the Code of Ethics for Professional Accountants.
(6 marks)


(HKICPA QP Module A Financial Reporting June 2016 Q6)
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